| — | —) | | — )] 1L
. | | SEE DETAIL A I i\ | | .
T S| \/\ e ollo 7
—
=
Z
:
o) _— L
=
8 S i — ' - = ) = s h =
M
o O O
<>‘ T T T g‘uD aTD =
‘,33 o o o
— < o S s
ﬁL =d|k<3 ol[o ﬁL
f |- | '
| 2000 2000
I I 1
SEE DETAIL B MAXIMUM 100mm SEE DETAIL B MAXIMUM 100mm ITEM NO. | PART NO. DESCRIPTION KIT QTY
OPENING = OPENING 200mm CENTRES (24 LOCATIONS) 1 10000977 | W—BEAM GUARDRAIL 4.0M N.L.L 1
2a 10001697 |SPRING STEEL STANDARD POST 610mm OA 2
= il r 2b 10001694 | SPRING STEEL CLASSIC POST 610mm OA 2
© TR 7 T T O
HU U;i ii 3 10006104 | 1100MM CRANKED HANDRAIL EXTENSION 2
_— 4 10001741 | ANGLE SUPPORT FOR MESH 4
— 5 10001311 | TEK SCREW 12—14 X 25 32
T 6 10001742 | M8 SECUREMAX SECURITY WASHER 24
7 10001248 |M16 X 32 SPLICE BOLT 8
w 8 10001233 |M16 X 50MM POST BOLT 4
(5Xs) (5)s) 9 10001239 |M16 OVERSIZE NUT 12
10 10001310 |M8 X 30MM CUP BOLT / NUT 8
11 10001305 | M8 FLAT WASHER 8
12 10006675 [M20 X 125MM LG ANCHOR BOLT -
@// \\@ 13 10001738 |[900 X 2400MM ANTI-CLIMB MESH PANEL -
14 10001731 | 32NB HANDRAIL 6.5M _
MAXIMUM 100mm MAXIMUM 100mm
OPENING — oPENING DETAIL B
4-OFF TEK SCREWS NOTES:
@/ ‘ PER POST CONNECTION 1. TO BE INSTALLED AS PER THE 'CARPARK & INDUSTRIAL BARRIERS'
STANDARD POST CLASSIC POST PRODUCT MANUAL
%) NAME DATE IN GAL PROJECT glféxTL '\(l)(I)VIL PRODUCTS
(]
wn O DRAWN MS 11-08-09
% = CIVIL PRODUCTS 10002093/10008094
e 4 14-02-17 | BOMREVISED MC PP o CHECKED TC 11-08-09 A valmont"¥* COMPANY
=2 QL0416 | BORDER CHANGE, NEW DG ISSUED e i ""' DRAWING AND CONTENTS ARE COPYRIGHT TO DRAVING No.
é f 22:’3:2 ﬁ“g“;:;‘lizTT‘;iiTE — ;i mi E APPROVED INGAL CIVIL PRODUCTS AND CAN ONLY BE USED SPRING STEEL BUFFA WITH HANDRAIL AND °
H10- : WITH PRIOR WRITTEN CONSENT FROM INGAL CIVIL
SCALE NTS. @ M i PRI0 ANTI-CLIMB MESH 1300mm STB-044
REV | DATE DESCRIPTION DRAWN | CHECKED |APPROVED DRAWING NUMBER | REFERENCE DRAWINGS ISSUE FOR INFORMATION ONLY 5765 NRDS ROAD  PH. +61 2 9627 3333 GENERAL ARRANGEMENT e 4
, RN www.ingalcivi.com.au ev:

J:\SALES & MARKETING\ENGINEERING ARCHIVE\STANDARDS\STB_STD\DWGS\STB-044 SSB WITH HR AND MESH 1300MM GA.DWG



